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Question 16

The distance D(A,B) between two nonempty subsets of A and B of a metric space (X,d) is defined to be D(A,B)= inf d(a,b), a ϵ A, b ϵ B. What can you
conclude about metric property of D?

Question 17

The distance D(A,B) between two nonempty subsets of A and B of a metric space (X,d) is defined to be D(A,B)= inf d(a,b), a ϵ A, b ϵ B. If D(A,B)=0 then what
should be the actual relation between A and B?

Question 18

Let X be the set of all polynomials defined on [0,1]. Consider a metric d on X defined by d(p,q)=sup|p(t)-q(t)|, t ϵ [0,1] for all p,q ϵ X. Then what kind of metric
space (X,d) is?

Question 19

Question 20

What is the metric relation between C[0,1] and C[a,b] ?

Question 21

Let X be a non-empty vector space with a norm d. Then what kind of metric space (X,d) is?



Question 22

What are the topological properties of the closure of a unit ball on a finite dimensional normed space must have?

Question 23

Let X be a normed space such that the closed unit ball is compact, then which kind of linear algebraic property X must have?

Question 24

Let X and Y be normed linear spaces. What is the necessary and sufficient condition of a linear operator T : X→Y to be bounded?

Question 25

Let Y be a subspace of a Hilbert space H. What is the necessary and sufficient condition on Y to be complete?

Question 26

What is the topological property of every subset of a separable inner product space?

Question 27

If H is separable Hilbert space then what property every orthonormal set in H must have?

Question 28

Let H be a Hilbert space. If H contains an orthonormal sequence which is total in H , then what is a special topological property H must have?

Question 29

Question 30

What is the necessary and sufficient condition for a subspace Y of a Hilbert space H to be closed in H?


